UG-250 BBCA-31

B.Com. DEGREE EXAMINATION —

JUNE, 2019.
Third Year
ADVANCED ACCOUNTING
Time : 3 hours Maximum marks : 75

SECTION A — (3 X 5 = 15 marks)
Answer any THREE questions.
All questions carry equal marks.

1. A and B are partners in a business sharing profits
in the ratio of 5 : 3. They decide to admit ‘C’ into
the firm by giving him 1/6t share. Calculate the
new profit sharing ratio and sacrificing ratio of the
partners.

A womgid B <dlCGunt  Qgmpddle gl L meflwms
o grerent. feuisaflemr @eomu BLLBGmer 5 @ 3 eTad
clflgsdled LdThHg eumSlamment. euisear C eremueiean
176 umdlne Cosisgs Oamerer  (pue| OCFlger.
gl Lmaflsaflanr LFw @eru elflssdleaneamuyn womibd
Sjeungafler Fluimg elldlssHenanybd sarsd (Hs.



Give journal entries when a company reissues
forfeited shares.

@ Blowbd  udlepsd  QELwlulL UBIGSmeT
wntelaiul® Qsleugnarer GHUGCLL(HLU use|samens
&(1Hs.

List out the methods of computing purchase

consideration.
QameTipged LMHULIDES SETGHHD  (PEHDEENETL

UL g Wl (h&.

The following business are extracted from the

books of AB Life Insurance corporation.

Rs.
Life Insurance fund as on 31.3.2007 1,600 lakhs
Net liabilities as per valuation 1,200 lakhs
Interim bonus paid 150 lakhs

You are required to show the valuation balance

sheet as on 31.3.2007.
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AB oudr sl swssdambg  rHEsLLL L

@riEse £ srUILL GaTans).

€.
31.3.2007 ievm <6t 1,600 @ smigar
srilS.(H B

LSO g e Lig Blard Qumptiyser 1,200 @evl ghiser
@eLggme Cumenev GlFgsdwig) 150 Gevl_gmiger

31.3.2007-b  preverws  LHUIGLH @@Ly Hlevews
@Mueu el swirt Qauis.

X Purchased a machine under hire purchase
agreement from Y. The cash price of the
machinery was Rs. 15,500. The payment was to be

made as follows :

Rs.
On signing the agreement 3,000
First year end 5,000
Second year end 5,000
Third year end 5,000

Calculate interest for each year.
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X eranueur @uipSrbd eemdlanar Y ererUeuilLOl(mba)

QUTL_and QameTapgen perpudled cUTBISlGTTT.
Qupdrsder  Crrsseflena em.  15500. Gsrens
emeumorm CeaussLiLhE g

€.
@UUBSD asGuriu(Hib Gurg 3,000
PS0 (B (Plg.6dled 5,000
@\TETL_TLD GU(HL (Lplg.6dled 5,000
EPGTDITLD GU(HL (Lplgaled 5,000

elCeumm < aTHEE MWL Ul lgamuis sarsd (Hs.

SECTION B — (4 X 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

P, Q and R are partners in a firm, they share
profits and losses equally. Their balance sheet on
31.12.2012 is given as under.

Liabilities Rs.
P’s capital 16,000
R’s capital 12,000
Reserve fund 18,000
Creditors 64,000

1,10,000

4

Assets Rs.
Machinery 40,000
Furniture 16,000

Debtors 40,000
Cash 8,000
Q’s capital 6,000

1,10,000
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The partnership is dissolved due to insolvency of G
who is unable to contribute anything in the
payment of his debt to the firm. Machinery
realised Rs. 30,000 and furniture Rs. 6,400 only
Rs. 24,000 was recovered from debtors. Creditors
were paid at a discount of 5%. Prepare necessary
accounts in the books of the firm when the capitals
are fluctuating apply Garner Vs Murray.

P, Q wpmid R fCunt g Blmiwsdler sl Lreallwrs
2 GTETEIT.  eUlseT @eru  BLLBIGmeT FMFoTs
9Msg16 Careatdlamment. jeuiseflen @@L Blapas
@iy 31.12.2012 ey (Gemeupommy :

QurmtiLser €. QFTSgIHS6ET €.

P-wpsed 16,000 @uimbdlgbd 40,000
R-wpge 12,000 empsee6n 16,000
&L bl 18,000 sLemser 40,000
SLBGHTT 64,000 QEr&sD 8,000
Qe (psed 6,000

1,10,000 1,10,000

Qe Gpmg iy Hleneowimed Mo Sena&sLILL L gl Djeui
Bmwsdng Oewss Ceouamrnqul CSTH&SEETS  THS
csworer  Csmenswb  Cegsseildveme. @Qubdrb
ep. 30,000 womd  mpseer m. 6,400  eren
Qrraswrssiiul L g). sLeameflsatlWOlmbg . 24,000
L HL Qupliul L gl sLatBECSTHSE 5% SemenLiguia
vend  GQeaussliilLgl.  Blimwsse Carermsdnlqu
Coameuwnanr  CUCL({H savs@samer swmt  Clals.

srrent T (wWprGr elgullener LiwiemL(HSEs.
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State the conditions and procedures for the issue
of redeemable preference shares.

BergE wperayfenols Lnigsamer GeuafludlBeughamen
BlUBSEEHEETILD, GULI(LPEPDHEENGTILD &(MhS.

T.V. Ltd. absorbed the business of Radio Litd., as a
going concern on 315t March 2006, the balance
sheet of the two companies, on that date, being as
under.
Liabilities  T.V.Ltd. Radio Ltd. Assets T.V.Ltd. Radio Ltd.

Rs. Rs. Rs. Rs.

Share capital

Goodwill — 1,00,000

authorised Building 5,00,000 -
Rs. 10 each  20,00,000 6,00,000 Stock 1,40,000 2,60,000
Issued and paid Debtors 2,80,000 2,00,000
up Rs. 10 each 10,00,000 6,00,000 Investment 1,20,000
Reserves 1,20,000 — Balance at
Creditors 20,000 1,00,000 bank 1,00,000
Bank overdraft 1,00,000 Profit and
loss alc - 2,40,000
11,40,000 8,00,000 11,40,000 8,00,000
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The purchase consideration was agreed upon at
Rs. 4,00,000 payable as to Rs. 2,00,000 in cash and
the balance by issue of 16,000 equity shares of
Rs. 10 each fully paid in T.V. Ltd. at an agreed
value of Rs. 12,50 per share. The sale was
completed and Radio Ltd., then went into
liquidation. Pass journal entries in the books of
T.V. Ltd and prepare the balance sheet of T.V. Ltd
after the purchase.

T.V. b, CrgCGuir SBELL ererm Flmeuarsens

31 s 2006 oemm eurmSlwigl. ops CsHu @)

sbQueflsafier @) mLiL Blaad@miiL Speimommy :
Qumpliyser .6l 0 CrqGur  Qonsgisser .64 ol GCrgCumr

e Ol

SmEsMNEs Ul L BOHQUWIT - 1,00,000

LIBIG (PSED SLiqL 1D 5,00,000 -

. 10 asid 20,00,000  6,00,000¢&78@s 1,40,000  2,60,000
Qeueflud_@ sLameflsar  2,80,000  2,00,000

Qequssi wpsd@sar  1,20,000

Qupps aundlmay  1,00,000

. 10 asid 10,00,000  6,00,000 @eomus B L
ST 1,20,000 - EMES, - 2,40,000
sLaBCSHTT 20,000 1,00,000
gl euerLILHD) - 1,00,000

11,40,000  8,00,000 11,40,000  8,00,000
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Qamerapged wmuwer e 4,00,000 erenmm  eliLs
Qamereriui L g ep. 2,00,000 Qprésworseyn SHS
Qgrengew ep. 10 aisbd 16,000 gw o fevw ukiGsmar
gD Ceiss CuDD URGSETTE LBIG 66
. 12.50 &g Csausdug. elbuemar wp(peugid
wprsstulL Gpg Crglurm SALL geelisa
Qeemgl. .69, AIGLL  sbCuafluiier eHsatie
CoamaiiLpd wWpan Gollamuub CsmearpgsasE, e
g.68. OO @@Ly Blevewds @Mllepuud guwim
Qauwis.

Prepare profit and loss account for the year ended
31st March, 2008, of very sound bank Ltd. from the
following particulars.

Rs. ('000)
Interest on loan 250
Interest on saving a/c 150
Interest on cash credits 160
Interest on fixed deposits 190
Interest on overdraft 70
Payment to employees 150
Discount on bills discounted 40
Rent, rate taxes, and insurance 5
Commission, exchange and brokerage 15
Audit fees 10
Director’s fees 20
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Qeurl seyewr(h eurdluden 31 wrig 2008 CaHw @evmu
Bl sansdloner Speumd efeugmsmear LweLHSS
swmt Cawis.

¢ ('000)
S SSHTE cuUL g 250
Caillibled eul’ g 150
Qrrés sL_afle el lq 160
Blenaw eneuliled aul g 190
cumidl euenrliLim e g eul g 70
26rL N7 (6@ TS Lena 150
Qrégl eul L gdlan cul Lid 40
UL e, auffl, smiSE) 5
sy, LIHD, 516 15
SemflSenEHWITETT &HL_L_6wrLd 10
@UIEE@HT SL_L_ewrld 20

10.

P purchased a truck for Rs. 56,000, payment to be
made Rs. 15,000 down and 3 instalments of
Rs. 15,000 each at the end of each year. Rate of
interest is charged at 5% p.a. Buyer depreciates
assets at 10% p.a. On written down value method.
Because of financial difficulties, P after having
paid down payment and first instalment at the
end of first year, could not pay second and third
instalment and seller took possession of the truck.
Seller after spending Rs. 350 on repairs of the
asset, sold it away for Rs. 30,110. Show the ledger
accounts in the books of both parties.
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11.

P eemueur em eomieow e 56,0005@ eurLans
Qamerapged (papuilldd UMBRIFGITT. (PSHD LIGRTLOTSE
5. 15,0000 Qeqss Ceuamr(hib. erehdlujerer Ggrenseanw
geudeun®m e Qe apery waTHsEREES
. 15,000 eisb apeny seumansaiey OFauss
Ceuewr(Hd. eully eigd 5% eumhi@ueur Csuinme
aumss@ 10% aisb @mppg Ced @)Ly Csuinme
wpeopulledr  samsSHBHHprr.  uewmr  CBHSSiguler
smrewtons P pged wewd wpmid  (pse  Heuanent
QequsHu  Ger  @rewTLmeug WLOHMID  EPETHTEIG)
SEUE@TEET &g Seumwsmed edn@Gnr emianu
Smbu  ahsg  Cearmy  N@BEnrT.  eomfludeerer
upgisamer Ba@b CQurml@ . 350 Ogwe| Geuig
Sigar Un@ . 30,1108@ dbm aNHEmmT. eummbi@nT
oD lH@pT hsefler CLCT( sams@Gsmaer Suimr

Qeuis.
What is Hire purchase system? How does it differ
from installment purchase system?

urLes Oarerapge S eTaTDmed CTeran? g
seuament  Qamarpsed  HLSHN®BHF  ereueumm)
CaumpuBHmg?
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12.

New ways limited issues 1000 6% debentures of
Rs. 100 each. Give journal entries in each of the

following cases :

(a) The debentures are issued and redeemed at
par.

(b) They are issued at a discount of 6% but
redeemable at par

(¢) They are issued at a premium of 5% but
redeemable at par

(d) They are issued at a discount of 4% but are
redeemable at a premium of 5%

Bl Geuey MAGQLL 1000 6% sLer LSSHrmisamar

. 100 ez GeuafludiLg. Splsr@asiul(Herer

eluprigEpssTear GDILCULHL L6 samers Sms.

(=) sLan ugSTRiseT g (PawSliife Ceuafudl(h
Siger wHUEDHGs Fmbu QU ng.

(=) 6% ser@Epuquiledr  Geuaflllil(®, pswdlibea
Fmbu Qundmng).

(@) 5% aeaeansdle Geuallui @, pswdlibea
mbu umndlns).

(FF)  sLer WL EL 4% SET(EHLIIg udley
Qeuatlll i B 5%  @peverngdler  HpdL
QumEpg.
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UG-207 BBCA-32/

BCO-32
B.Com. DEGREE EXAMINATION —
JUNE, 2019.
Third Year
Computer Applications

COMMERCIAL LAW AND INDUSTRIAL LAW

Time : 3 hours Maximum marks: 75

PART A — (3 x 5 =15 marks)
Answer any THREE questions.
1.  What do you understand by “Arbitration”?
Bheul o Lerur® ererig umml el <idleug wirg?
2. What is meant by indemnity? Explain its kinds.

rlhnd FLE eTeInmed TEIRT? AFET EUMSHEET
fleufa.

3. Distinction between a sale and a Hire—Purchase
Agreement.

hueaTs@LL, mLms CQSTETLPSD (LPEPDHEHEGD 2 6Ter
Caumur(haer wreneu?



What are the provisions in the Factories Act 1948
for protection against fire and safety of Buildings.

@ndwu Qamfihgraned s Lib 1948 L, Qgmlharene
sligLgdar & wHmbd urgsTiy FOUBSLOTE o &rar
el dlger wreneu?

What are the main objectives of the Industrial
Disputes Act 1947?

@pdwu  Csmpler gapmm sl 1b-1947-a1  (p&Slw

CrT&smISe6T Wreanel?
PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.
Differentiate Bailment and Pledge.

@UU®LG| LHND LG QaundinEg @ Gu o drer
gdlwnsmseer efleuflés.

What is “Caveat Emptor”? What are its
Exceptions?

“aumii@GeunCr  APISH M’  eTemmmed eTemen? DB
cidlelevs@ser alleuflss.

What are the rights and duties of Seller and
Buyer?

cllpueur wHmd eurkiGuear RHCurher o Manwser
LOHMID SLanos6T efleMdsea .
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10.

11.

12.

What do you mean by Agency? What are the
essentials for a valid Agency?

(PEHEOLD GTGTDHITED 6TEITEN? 6p(TF LFOVE H@GHS (LPSHemLoudle
G MIGET WITEnE?

Explain the provision of the Industrial Dispute
Act 1947, relating to Unfair Labour. Practice.

@pdw Qzmfle garmm st ib 1947 6 L. - BlumuwbHm
QUTES5S BenL(LPEnM&ET-@)euD e gnmiseaner 6ilersEs.

State the provisions of the factories Act, 1948 with
regard to Health, Safety and Welfare of the
workers.

@g,rrg@ﬁ)&rmmu LD - 1948 &7 Lilg &&MSMTID, LITGISTLIL
oHmid  Qurgl B  @epeuser  FbUBSLOMET
Sl panmaamer allersEs.

Explain the measures are taken to prohibition of
Lay Off in Industrial Disputes Act 1947.

QipHwu Qsmle sarmm s L1 1947-6r L Couame Bés
SO FDUBSOMG  THESILLL. B (LPEDDHSHENET
oNleTE G
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UG-233 BCS-33/
BBCA-33

B.Com. (CS) DEGREE EXAMINATION —
JUNE, 2019.

Third Year
COST ACCOUNTING

Time : 3 hours Maximum marks: 75

PART A — (3 x 5 =15 marks)
Answer any THREE questions.

1.  Give any five differences between Cost accounting
and Financial accounting.
BlE  samsiusEh, Lsselme  SanTddliigsEn
2_6TeT FFmeug) Bhgl CeumumhEemaT eT(LPgIs.

2. Calculate re-ordering level, Maximum stock level
from the following Information :
Minimum consumption — 100 units per day
Maximum consumption — 150 units per day
Normal consumption — 120 units per day
Re-order period — 10-15 days
Re-order quantity — 1500 units

Normal Re-order period — 12 days



bm  Yoartloe, AHsuls Bl barelmn
S&eUS6T ) @)(HHS) 6T (HLlg &6 LD.

GDDHSULE HISHT6] — 100 oj@ser
R BrapeTSS

SHFULF BIFTE (I

BTENGTE (S, — 150 oj@ser
SMGITITGT BISHTE| 63(Th

BIE6TES - 120 oy@ser
fagem Damarpsd s —  10-15 priser
fagen Qarearipsd Serte] — 1500 e@s6r

FTETET && 6
QameTIpged Hrevd— 12 prser

State the reasons for variation between cost and
financial profit.

SLssllene  samsdulwed  @Qerusdneb, B
SETEE WD @QemTUSHDE@GD (PTaTUT(h GUF SHTFEThISe6T
wimeneu?

The following is the Information relating to
contract 123.

X R
Contract Price 6,00,000 Wages 1,64,000
General expenses 8,600 Raw material 1,20,000
Plant 20,000
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As on the date cash received was X 2,40,000 being
80% of work certified. The value of material
remaining at site was X 10,000. Depreciation on

plant by 10%. Prepare Contract account showing
profit to be credited to P&L a/c.
uuBsD  123-an  Spse GOy sel BB

RUUBSSE 6T @eTU BL L& Sardbans Saumsd (5 s.

2 2
PUILHS efana 6,00,000 8a.c 1,64,000
Quing) Qseayser 8,600 epari@urmer  1,20,000
Quirdlwrana 20,000

Qupiul prefleo X 2,40,000 uvenfluillgder 80%
Qupliul’Lg. gersHer Wguperer epliGLITHETEET
X10,000. Gguwiwrard (Qumdl) 10%.

Profit X 800,

Sales X 8,000

Variable cost 75% of sales

Find out :

(a) BEP

(b) What would be sales volume to earn a profit

of X 2,000?
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GITLILD X 800,
aSlhueenr 8,000
wrmu@b dgwa) 75%
Getreu(HeuaTeLHenm Seut(Hily :
(=) @eoru-plL wHm Lerafl
(=) X2,000 eorugdnsrar ellbLene.
PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.
State the advantages and disadvantages of Cost
accounting.
gaéSlwedlen parenlo HMID Samwsamer elleuflésab.

From the following details, prepare stores ledger

account showing issue of material on the basis of
LIFO

2017 Purchases Issues
Aug 3 750 kg @X 2 Aug 19 850 kg
Aug 18 350kg@X2.10 Aug26 450 kg
Aug 25 600 kg@X2.20 Aug?29 570 kg
Aug 28 500 kg @X2.30 Aug 30 150 kg
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Gemeud  ellupmismets  Csmar(®  &ré6@ GCuCHL(E
sasang LIFO g v #ré@ wpernulle swrflés

2017 Qamarpsed Qeuaflui(h
PPNG o500
3 750 kg @X 2 19 850 kg
18  350kg@X 2.10 26 450 kg
25 600 kg @ 2.20 29 570 kg
28 500 kg @ X 2.30 30 150 kg

Mr. Gopal furnishes the following relating to
manufacture of standard product during the
month 2017 (August)

Raw material consumed Rs.15,000
Direct labour Rs.9,000
Machine hours worked 900 hours
Machine hour rate 5

Administrative overhead  20% on work cost

Selling overhead 0.50 per unit
Unit produced 17,100
Unit sold 16,000
Unit selling price Rs. 4 per unit

Prepare cost sheet showing cost per unit.
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gsev®  2017-er S Camume  BHlmeuengdlen
2 Hugduflern sseuedlen Llg e(h L &seillana L lgwiene
swmt Caws.

epLIGLIMBET HisTey ¢5.15,000
Croirig. ga.6d ¢5.9,000
Quibgly Cprid 900 Loamf)
@updr Cor ellflsid 5
Blieuns Gopblaawey 20% Gouane Ceeailadl(mbgl
alpuener CpbFwe| (e S HE) 0.50
2 HUSH (A @GEHeT) 17,100
cllpLIenaT (e @EHSET) 16,000
cllpLienar e AHDEG ¢, 4

A product passes through I, II and III process.
Prepare process account assuming that assuming
there is no opening and costing stock.

Process
Particulars I 1T 111
Material 1,000 1,500 500
Labour 5,000 8,000 6,500
Overhead 1,050 1,188 2,003
Actual output (unit) 9,500 9,100 8,100
Normal loss 3% 5% 8%

The wastage of process I was sold at 25 paise per
unit, Process II -0.50 paise and Process III-Rs. 1
per unit. Raw material of 10,000 units were
introduced into process I in the beginning cost of
Rs. 1 per unit.
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10.

e alurhsallal®mbg Gewawpeap I, II whmibd
IIT Qeeedler samsans gwumiléEsean. OsT_&s LOHMLD
@mid sr&SlmLiL @Qevene eTemm) 2ardlsg) CameTaTe]Lb.

Qawdpenn
afeurid I II 111
epeLIQLITHETEET 1,000 1,500 500
&6 5,000 8,000 6,500
Cuplsmay 1,060 1,188 2,003
2 amenwirer 2 Huss (Sogsar) 9,500 9,100 8,100
FrgmyanT @iy 3% 5% 8%

Qewdpenm ellpugens o6 (LD clenavd @
pstiulLgl. (@m A0dnE) teweamperp I — 0.25
evugm, I1-0.50 enuign, III-ap. 1 Gewdapenm I-é 10,000
Sjo@ser epeoliurmlsamer .l (m SdnE)

eremm Clemmslil L g).

From the following calculate earning of worker
under

(a) Time rate system

(b)  Piece rate system

(c) Halsay plan

(d) Rowan plan

Wage rate X 2 per hour, production per hour
— 4 units, DA — 1 per hour, Standard time
fixed 80 hours, Actual time token — 50 hours,
production 250 units.
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11.

Spsem eLyisalambs)

(<) Cprefldls Sl b

() <0E 6ilds S

(@) apmGs L 1b

(m) Grreumenr A Lib wpeopied Qsmbmreisafar
Faadlenw Gevr(H Ll

sdll s . 2 (@@ wall Cprsdne). epusdl - 4
SGS6T (6 ewtl CrrsHnE), DsellenaliLig — ep. 1
(@ warfl CrrsdnE) HLCprd — 80 wewflsadr.
2 aenwner CrID r(sg Careamg — 50 wewtlser
2 HugH 250 S @ser.

Calculate ;

(a) PV ratio

(b) Fixed cost

(cc BEP

(d) Sales required to earn a profit of X 5,000

(e) Margin of safety in 2017.
2016 2017

B R
Sales 38,000 65,000
Profit (2,400) 3,000
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12.

em  Bowsdar  ghser  Geraumeaneupenp
sT_(H&emper.

STV 2016 2017
X X
apuener 38,000 65,000

@emub - (2,400) 3,000
ST :
(=) @eoru - Serey ellSlgn
(<) Blavewrer CGeway
(&) eswplave Learf]
()  X5,000 Qerugdnarer edlbienen
(

o) umgsriy ugs 20175

From the following calculate

(a) Labour cost variance

(b) Labour rate variance

(¢) Labour efficiency variance
Standard rate of wages per hour — X 10
Standard hours — 300

Actual rate of wages per hour — X 12, Actual
hours — 200.
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Sipsam_ afluyrisefed s sar( g :

(=) Qsmpeomart aflenav ommiuim(

(<) Gsmpeomert alldls wrmLim(

(@) Gsmpemart Ggweadmer wrmLm(h
Blenaowimen e4dls ga.ell ep(m anfléE — X 10
Blenaowimen Grrid — 300
> amrenLowimen 6l$lg el e weanfléeE — X 12

2 anrepowimen Crid — 200 .
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UG-252 BBCA-34/
BBAC-34

B.Com./B.B.A. DEGREE EXAMINATION —
JUNE 2019.

Third Year
BUSINESS INFORMATION SYSTEMS

Time : 3 hours Maximum marks : 75
PART A — (3 x 5 =15 marks)
Answer any THREE questions.

1. Explain Information Technology for business.
ellwrumygdle saeud smpled mirub Ll edleuflés.

2. What is computer decision support systems (DSS)?
What are its characteristics?

satlall  (Pge| ST DML GTETDITD  ETETE?
SS@IemLW DL SFmsET Wrened?

3. What are the advantages of Enterprise Resource
Planning (ERP)?

Blmieuer auem St 1OL_606l HETEnLOEHENET Jo.M) 8.



What are the characteristics of data base
management systems?
sre|s ser Caramenn ewliber Splils smmsemer
& (1.
What is Retail software? Explain its benefits to
business.
Svewann CETEILTHET CTETDIE) GTeme? ASHEIEML (LI
BTG LOEET GTELGUT(T 6(1h eUamTlGESH D@ 2 He dlmg.
PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.

What is Technological Innovation? How it is differ
from Technological Obsolescence?

Qamhled mIL LI LD GTETmTe) 6TENET? g 6Teuemm)
Qsmhley mLlu  eupstamfbg Curgsald @\mbgl
CaumuBSlemmg.
Explain the importance of IT support for
management decision making.
Goevmairenin Wiy Ceuhssen (pannuiled IT-én
PSHWSFHIUSNS 65l 6TEHE.
What is Inter-organisational information systems?
Explain its contribution to global information
system.
Blmeambs@rsE @l Cuwmea &  (LPEDHEnLD
CTGIMITE) GTETET? <AF eTeuaUmn 2 s armeill H&HeuUe)
pepuller 2 5o D gI.
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10.

11.

12.

What is logical data models? Explain its various
kinds.

&(H&5S HTeUEET OMSHMEGET TEIMTED CTET? ASHEEML (LI
uCaum auamasear UHM Fomis.

Explain the components and structures of
computer decision support systems (DSS).

saflafll (P46 <RsTe| A@LUYET SMISET LOHYID
Sienwliy udHol Famis.

Distinguish between various database models.
LCeaumiul L. sl  wrdlfaseEpsE Qe Cuwner
Coumim(haemer snmis.

Explain the various classification of software.

LoCGeaum  euewswnar GCwerGurmer umdl  aflfleurs

clleT&Es.
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UG-253 BBCA-35/

BBAC-35
B.Com./B.B.A. DEGREE EXAMINATION —
JUNE, 2019.
Third Year

BUSINESS ACCOUNTING SOFTWARE

Time : 3 hours Maximum marks: 75

SECTION A — (3 x 5 = 15 marks)
Answer any THREE questions.

1. Briefly explain-Tally fundamentals in Accounting.
sesSlwale cramanilsansuier gl TaTLINS
G(HESLONG FaN)5.

2. What is accounting bill? Explain it in detailed
manner.

SEMEH IO 78 CTOTHTED CTETE? S HHSNS
elleurions gnmis.

3. What 1is VAT? Explain 1its activation and
classification.

VAT crenmmed eremmen? g GQewdumib edgh whmib

QUM SHSHEN O FoMIS.



Explain the concept of trial balance in accounting
tally.
samsdle cranamilsams erartude Camgenar Foflane
upml eNeufése|b.
What is bank reconciliation? Explain briefly its
preparation in Accounting tally.
cumidl  FlGSELHL Uliguwd eTETDTE)  GTaT? i)
SaTES W60l 6o eremTantlSam g udled SWrm&su (b
(PEODEWLI T ).

SECTION B — (4 X 15 = 60 marks)

Answer any FOUR questions.

What is cash book? How to make entries in cash
book?

Qrr&s ok eTemre ereen? Qpméss oliged CFrés
BL_6lq Hen&S&6T LISWLILHLD (Lpenmen Famis.
Distinguish between cost centres and cost
categories in detailed manner.

SILES g ellene enwild WwHMILD eSlane eUamSSH6T
@anmse @ Cuurer GCoaumpur®hsamer ellfleumss
Fo.0)|.

What is CST? How to create various vouchers in
CST in Accounting?

CST (Central Sales Tax) eremmed ereven?
sasluadley  uGeum  FTAIDTUESET  eTEleUMD)
2 (HeUm&EIL(HS TS| TSN 60d: Fo. M.
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10.

11.

12.

What is Balance sheet? Explain the concept of
balance sheet in Tally.

@l Blened @Ml eTemmmed eremem? eTeammemtuiaied
@ UL Blevvd@dlLider &mSg! wng)?

Explain the merits and salient features of service
tax reports.

Ceaneu eufl MlGemaudlen BTNOSGET WLHMID ST
Spliys smmser Lnol elleuflsseyLb.

What is inventory? Explain various inventory
vouchers and reports.

&6 GTEIMTE) GTEIET? FJ&@E FTATDMIG| LOHMID FT&HES,
SiMsmagener elleufss.

How to consolidate accounts and other reports by
accounting software?

SETHGEHET HMILD ADSMSHEMET 6TeeUTM) FHevrdd e
QETELIMHET eLPEILD 6R(HBISIEERTLILIZ] GTETLINS Fo.M)id.
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